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BiKE L R7
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3l = Bt - =
£ 1 2 K s+ & H g = Hil 8 =
M EE/KE HPPE®T5 L=460.3m
# # B EE =
HPPE (EFs==014F) AW 74 74 x5.000 = 370.000 74.0 74
B KRAARYIFLUE [p75x5. 0m VN
HPPE (EFs=014F) AW 11 52.05 = 52. 050 11.0 11
BKARUIFLUE [075x5.0m YIEA 7
HPPE (7° L-vIvh' ) AW| 0+4 0x5.000+16.5 = 16. 500 4.0 4
FRAKAR)TFLUE [p75%5. 0m i
33 33.0 33
EFVYZY bk ¢ 15 &
A% 18 18 x0.535 = 9.630 18.0 18
EFAZANUE ¢ 75 % 45° o
A% 10 10x0. 415 = 4.150 10.0 10
EFAZANUE ¢75%22 1/2° A
A% 20 20 x0. 395 = 7.900 20.0 20
EFAZANUE ¢75%x11 1/4° A
EHXREICETE 1 1x0.108 = 0.108 1.0
EFF—X d75%x p 75 &
K ME30mm 460. 34-0= 460. 3 460. 3
EBRRT—7 m
RUIFLVANR 87 ) F 460. 34-0= 460. 3 460. 3
BERER S — k i 75mm m
48 48.0 48
Al —Hh— &
o TER EE = 438.550




E ==
# TN & X By =
BEpRE = 21.788
teRE
5t = 460.338




£ 1 2 K s+ & H g = Hil 8 =
(%7 % &)

460. 34-0= 460. 34 460. 3

RUIFLUERMT [¢75 m
29+14 43.0 43

RUIFLUEYT @75 a
mEES (20) 33 33.0 33

RYUIFLUE#HMFL (075 (303
MEES0O) 74+11+18+10+20 133.0 133

RUIFLUERFT (@15 (303
460. 3 460. 34 460. 3

EHET—JI KimT-7 m
460. 3 460. 34 460. 3

EHR—FI m
48 48.0 48

BAT—Hh—REL (303




2 £ &t L} =

% R e K St & &t " E BHfp % &
(£ I
#13&As DPO. 80m 24.3+98. 4+41. 6+84. 6+125. 3+1. 1+8. 3 = 383.6 383. 6
T TAs 80-3 ¢ 75 m
#13&As DPO. 96m 2.2 = 2.2 2.2
T TAs 96-3 ¢ 75 m
#13&As DPO. 98m 3.2 = 3.2 3.2
T TAs 98-3 ¢ 75 m
#f3&As DP1. 00m 4.4 = 4.4 4.4
T TAs 100-3 ¢ 75 m
#13&As DP1. 69m 3.3 = 3.3 3.3
T TAs 169-3 ¢ 75 m
#13&Co DPO. 80m 25.0 = 25.0 25.0
1+ T Co 80-3 ¢ 75 m
[Ei& (BE3#&)As DP1.20m| 12.3+11.6 = 23.9 23.9
T TAs 120-3 ¢ 75 m
E:& (&) As DP1.20m| 13.9 = 13.9 13.9
T TAs 120-3 ¢ 75 m
XRI2E 3.3 = 3.3 3.3
AEIREET H=2.10 W=1.00 m
As t=15cmLLF a5t 1712.4 1712. 4
&% hix ] i T m
383. 6 x (2+2) = 1534.4
T TAs 80-3
2.2x (2+2) = 8.8
T TAs 96-3
3.2x (2+2) = 12.8
T TAs 98-3




) E B " =
£ o 2 K ~t & B g = Hi #% =
4. 4% (2+2) = 17.6
T TAs 100-3
3.3x (2+2) = 13.2
T TAs 169-3
23.9x2+16.1+9.2+9. 2+8.0 = 90.3
T TAs 120-3
13.9%x2+2.5+5.0 = 35.3
T TAs 120-3
Co t=15cmLlTF &it 50.0 50.0
SRR UIET T m
25.0%x2 = 50.0
+TCo 80-3
TAT7 M MEREERR BHO. 28%&31A &&t 826.7 827.0
EEEA - HAT t=10cmL T 2
0.60x383.6+1.2x383.6 = 690.5
T TAs 80-3
0.60x2.2+1.2%x2.2 = 4.0
T TAs 96-3
0.60x3.2+1.2%x3.2 = 5.8
T TAs 98-3
0.60x4.4+1.2x4.4 = 7.9
T TAs 100-3
0.60x3.3+1.2%x3.3 = 5.9
T TAs 169-3
0.60x23.9+23.5+27.9+10. 4 = 76. 1
T TAs 120-3
0.60x13.9+28.2 = 36.5

T TAs 120-3




% R e K St & B " E BHfp % &
avy ) — FEERR BHO. 28%&3A ast 2.3 2.0
B - HAT Co7"L-h-  8%kA% m?

0.60x25.0x0.15 = 2.3
1+ T Co 80-3
BHO. 28m’ ast 292.3 292.0
R E T m’
0.60x0.95x383. 6+1.20 % 0. 04 x 383. 6 = 2317. 1
T TAs 80-3
0.60x1.11x2.2+1.20%0.04x2.2 = 1.6
T TAs 96-3
0.60x1.13x3.2+1.20x0.04x3.2 = 2.3
T TAs 98-3
0.60x1.15x4.4+1.20x0.04x4.4 = 3.3
T+ TAs 100-3
0.60x1.84x3.3+1.20x0.04x3.3 = 3.8
T TAs 169-3
0.60x0.84x25.0 = 12.6
1+ T Co 80-3
0.60x 1. 24 x 23. 9+(23. 5+27. 9+10. 4) x 0. 04 = 20.3
T TAs 120-3
0.60x1.24x13.9+28.2%0.04 = 11.5
T+ TAs 120-3
BHO. 28m’ ast 17.0 17.0
WIERT iR m*
(0.60x0.29-0.090 " 2x3.14/4) x 383. 6 = 64.3
T+ TAs 80-3




2 £ &t L} =

% R e K St & &t " E BHfp % &

(0.60x0.29-0.090 " 2x3.14/4) x2.2 = 0.4
T TAs 96-3

(0.60x0.29-0.090 " 2x3.14/4) x3.2 = 0.5
T TAs 98-3

(0.60x0.29-0.090 "~ 2x3.14/4) x4.4 = 0.7
T TAs 100-3

(0.60x0.29-0.090 "~ 2x3.14/4) x3.3 = 0.6
T TAs 169-3

(0.60x0.29-0.090 " 2x3.14/4) x25.0 = 4.2
1+ T Co 80-3

(0.60x0.29-0.090 "~ 2x3.14/4) x23.9 = 4.0
T TAs 120-3

(0.60x0.29-0.090 "~ 2x3.14/4) x13.9 = 2.3
T TAs 120-3
BHO. 28m*  4un’ ast 123.2 123.0

BRI FEL m3

0.60x0.42 x 383. 6 = 96. 7
T TAs 80-3

0.60x0.58x2.2 = 0.8
T TAs 96-3

0.60x0.60x3.2 = 1.2
T TAs 98-3

0.60x0.62x4.4 = 1.6
T TAs 100-3

0.60x1.31x3.3 = 2.6
T TAs 169-3

0.60x0.45x25.0 = 6.8
1+ T Co 80-3

0.60x0.60x23.9 = 8.6
T TAs 120-3




2 =

£ o 2 K T & H = Hi #% =
.60x0.60%13.9 = 5.0
+TAs 120-3
g1, 8m% & &5 238.0 238.0
TERET RCAOLLT t=14cm 2
.60x383.6 = 230.2
+TAs 80-3
60%2.2 = 1.3
+TAs 96-3
60%3.2 = 1.9
+ TAs 98-3
60x4. 4 = 2.6
+TAs 100-3
60%3.3 = 2.0
+TAs 169-3
g1, 8mk & Bt 22.17 23.0
TERET RCAOLLF  t=20cm m?’
60%23.9 = 14.3
+TAs 120-3
60%13.9 = 8.3
+TAs 120-3
g1, 8m*k & &5 238.0 238.0
FRERET M4OLL T t=14cm 2
.60x383.6 = 230.2
+ TAs 80-3 m?’
60%2.2 = 1.3
+TAs 96-3 m?’




£ 1 2 Kt & F g = Hil 8 =
0.60x3.2 = 1.9
+TAs 98-3 ol
0.60x4. 4 = 2.6
+TAs 100-3 m?
0.60x%3.3 = 2.0
+TAs 169-3 m?
&1, 8m i At 15.0 15.0
FERET RCA0LLF  t=10cm 2
0.60%25.0 = 15.0
+TCo 80-3
&1, 8m ki At 22.7 23.0
FRERET M4OLLT t=15cm 2
0.60%23.9 = 14.3
+TAs 120-3 m?
0.60%13.9 = 8.3
+TAs 120-3 m?
HWREMEL A&t 566.0 566.0
RREEIE W<1. 80 ol
1.20%383. 6 = 460.3
+TAs 80-3 ol
1.20%2.2 = 2.6
+TAs 96-3 ol
1.20%3.2 = 3.8
+TAs 98-3 ol
1.20%4. 4 = 5.3
+TAs 100-3 m?




m B 3

A {1 2 K T & B = Hi #% =
1.20x3.3 = 4.0
T TAs 169-3 m?
23.5+27.9+10. 4 = 61.8
T TAs 120-3 m?
28.20 = 28.2
T TAs 120-3 m?
A LB As (20F) A& 466.8 467.0
xKEL t=4cm W<1.4m )
1.20x383.6 = 460. 3
T TAs 80-3
1.20x2.2 = 2.6
T TAs 96-3
1.20x3.2 = 3.8
T TAs 98-3
1.20x4.4 = 5.3
T TAs 100-3
1.20x3.3 = 4.0
T TAs 169-3
24-8-40BB HfH &&t 15.0 15.0
avy ) — hEET t=15cm s
0.60x25.0 = 15.0
+ T Co 80-3
BHO. 28m°i& 292.3-123.2 = 169 1 169 0
KRLIERT DID# 2t-1.5km 3




= =
# = 5

£ 71 2 K ~F & B = ==Xivs =
AsB? BHO. 2f&:32 826.7x0.04 33. 1 33.0

B nIET 2t-1. 5kmEL T ol
Cob® BHO. 28%&iA /5| 2.3 2.3 2.0

B nIET 2t-1. 5kmEL T ol
33. 1 33. 1 33.0

FRAIZ7I)L FRNEE m’
2.3 2.3 2.0

aVh ) — RERIBE |8 m®




[UEHRE] HPPE  HUE ¢75 (RO No. 1
HEOE 298 & RE |UIMT
1 3.98 1.00 498 0.02( 2
2 2.88 1.00 0.53 0.53 4.94( 0.06
3 409 0.50 4.59( 0.41 2
4 3.92  1.00 492 0.08 2
5 4.78 478 0.22] 1
6 2.77  0.93 1.0 4.75( 0.25] 3
1 1.8 0.63 1.00 0.63 0.50 0.50 4.84( 0.16] 6
8 3.72  1.02 474 0.26( 2
9 2.77  0.50 1.02  0.51 480 0.20( 4
10 1.96  2.43 4.39( 0.61 2
11 4.32 4.32( 0.68] 1
& 36. 71 15.28] 52.05| 2.95 29




£ ] HPPE FEUE @75 (" b-vIvh’)

)| & & RE | YIT
0.72 0.72 0.53 0.53 1.25 0.9 4.70( 0.30] 6
2 0.50 0.77 0.50 0.90 2.67| 2.33 4
3 408 0.39 0.39 486 0.14] 3
4 4.21] 4.27( 0.73] 1
9.57 6.93| 16.50[ 3.50| 14




# = Bt -1
£ 1 2 K s+ & H g = B{r =
QB R UBERER N=28F
(# #H &) ER =

HPPE (7" L-vIVh ) AW| 1 5. 00 = 5. 000 1.0 1

BEKARIIFLUE|GI5X5.0m YIER 7N
HPPE (7" L-vIVh ) AW| 1 3.43 = 3.430 1.0 1

BEKAR)IFLUE GS50x5.0m YIER 7N
2 2.0 2

EFY4S vy bk ¢ 15 &
4 4.0 4

EFV4Sy b ®50 &
1 1x0.181 = 0. 181 1.0 1

EFF—X @T15x @15 &
R 1 1x0.415 = 0. 415 1.0 1

EFAZAVE o15%x22 1/2° .
2 2x0.300 = 0. 600 2.0 2

EFAZLTa—Y ®75% ¢50 &
GF 7.5k 1+1 2x0.180 = 0. 360 2.0 2

25 V0CHEE $50 &
GF7.5k SUS B.N.P 1+1 2.0 2

25V EEH $50 #H
PEEFAMmZ AW 1+1 2x0.205 = 0.410 2.0 2

VIR — ILETDH|GTS &




3l E K " =
£ 5 2 K T & H =1 = ==K v =
B LISt
EE R IG 2 2.0 2
HYREH KNGH-52EK THPARE & £ &
ER-1 2 2.0 2
a8 ) — FER 500W x 300D x 60H B
X i 1E30mm 10. 396-0. 41= 10.0 10.0
EBRRT—7 m
A UIFLVINZ 470 F | 10.396-0. 41= 10.0 10.0
IHERER L — b & 75mm o
1+1 2.0 2
Al —Hh— &l
¢ 155 £ /IVat =  6.606
¢ 503 £ /v &t = 3.790




[ —]
# =
£ 1 2 K =t =
(%7 % &)
6. 606-0. 410 6. 20 6.2
RYIFLUERERET 075
3.790 3.79 3.8
RYIFLUERERMHT |50
3 3.0 3
RUIFLUEYT (@75
2 2.0 2
RYUIFLUEYIT |¢50
BEEES (20) 2+1 3.0 3
RYUIFLUE#HMFL (075 (303
BEEES (20) 4 4.0 4
RUIFLUEHMFT 950 o
mMEES0O) 1+1+1 3.0 3
RUIFLUERFT (@15 o
& VIFLVE 2%2 4.0 4
AHZHILMET ¢ 15 =
7.5k 2 2.0 2
IJSUDHETL $50
AR 2 2.0 2
HUHHRET ¢ 15
2 2.0 2
HUHFREEFET A BR. EWREHR
1 1.0 1
i EHNRERET BO
2 2.0 2
BEEE- LB $ 50
#h E = 1 1.0 1
BEEH NI ET BO
10.0 9.99 10.0

EBRRT—II

KiwT-72"  $50




£ o 2 K ~t & B g = ==X {2 =
10.0 9.99 0.0
EHR—FI m
2 2.0 2
BAT—H—RETL el




£ 71 720 7 NI I~ ~ B =1 =X B % =
(x I
#11&As DPO. 80m 2.3+4.3 = 6.6 6.6
1 TAs 80-3 ¢ 50 m
#11&As DPO. 80m 1.8+0.2 = 2.0 2.0
T TAs 80-2 ¢ 50 m
Ehls DPO. 80m 0.6+1.2 = 1.8 1.8
T+ 80-2 ¢ 50 m
1.0 = 1.0 1.0
HNERELXT BEREBEIHY #REF! el
1.0 = 1.0 1.0
HANEERBET BERREIHY #REF! el
As t=15cmLlTF A&t 34.4 34.4
HEMRYIETT m
6.6x (2+2) = 26. 4
1 TAs 80-3
2.0x (2+2) = 8.0
T TAs 80-2
TAT7 ) MR EE R BHO. 28%&5A &5t 15.5 15.0
EEEE - BAT t=10cmA F .
0.60%x6.6+1.2%6.6 = 11.9
1 TAs 80-3
0.60x2.0+1.2x2.0 = 3.6
T TAs 80-2
BHO. 28m° &5t 6.1 6.0
BEIEAEI T 3




m B H B ®

A {1 2 K T & Hi = = ==K va =1
0.60x0.95%x6.6+0.60%x0.04%x6.6 = 3.9
T TAs 80-3
0.60x0.92x2.0+0.60%x0.04%x2.0 = 1.2
T TAs 80-2
0.60x0.96%x1.8 = 1.0
T T L% 80-2
BHO. 28m? &&t 1.7
WERT PRy m®
(0.60x0.29-0.090 " 2x3.14/4) x6.6 = 1.1
T TAs 80-3
(0.60x0.26-0.060 " 2x3.14/4) x2.0 = 0.3
T TAs 80-2
(0.60x0.26-0.060 " 2x3.14/4) x1.8 = 0.3
T T L% 80-2
BHO. 28m*  4un’ && 2.9
HRT Eipe m?
0.60x0.42x6.6 = 1.7
T TAs 80-3
0.60x0.42x2.0 = 0.5
T TAs 80-2
0.60x0.70x1.8 = 0.8
T T L% 80-2
M@1. 8mxkii PN 5 9
TERET RCAOLLF t=14cm 2
0.60x6.6 = 4.0
T TAs 80-3




= =
# = 5
£ 71 e K S & B = ==X ] =
0.60%x2.0 = 1.
+ TAs 80-2
151, 8mak i &t 5 5.0
tEBRET MAOLLT t=14cm = e '
0.60%6.6 Z 4
+ TAs 80-3 m?
0.60x2.0 = 1.
+ TAs 80-2 m?
WEMEL A% 10 10.0
FEEE W<1. 80 i s '
1.20%6.6 = 7.
+ TAs 80-3 m?
1.20%2.0 = 2.
+ TAs 80-2 m?
BHEZHEAs (20F) =518 10 10.0
REIL t=4cm W<1.4m = ' . :
1.20%6.6 = 7.
+ TAs 80-3
1.20%2.0 = 2.
+ TAs 80-2
BHO. 28m°#& 6.1-2.9 = 3. 3.0
BERT DID# 2t-1.5km 8
AsBE BHO. 2f&5A 15.5x 0. 04 = 0. 1.0




# = g -} g
£ 71 720 7 NI I~ ~ B =1 =X =R v =
BrmiET 2t-1. 5kmEAL T
0.6 0.6 1.0
FAIZ7IL CRNIEE




1E) HPPE ~ MUE @75 (7" L-vIsh) No. 1

)| & & RE | YIT

.10 0.50 2.90 0.50

3.90, 5.00[{ 0.00] 3

2-23



1E) HPPE  FUE @50 (77 L-vIvsh) No. 1

)| & & RE | YIT

2.23 1.20 3.43| 1.57 2

2.23 1.20] 3.43| 1.57 2

2-2



®m B H ®H &

£ o 2 K ~t & H g = Hi #% =
HBKEHRZT PEPH50 L=1.0m
FHKEMZTLT PEPH30 L=61.0m
HBKERZT PEPP25 L=35.9m
HKEMZTLT PEPH20 L[=208.2m
WAKkIEBET N=128Fk
# # B ER =
1 B8 Z B ¥®t B 1.0 1.00 1.
KEARYTFL > E|PEPGS50 -
1 B8 Z B ¥®t B 24.5+36.5 61.00 61.
KEARYITF L E|PEPG30 -
1 B8 Z B ¥®t B 35.9 35.90 35.
KERKR)IFLUEPEPGH25 m
1 B8 Z B ¥®t B 20. 0+7. 5+42. 5+9. 8+24. 5+14. 0+22. 2+12. 1+3. 6+7. 0+32. 5+4. 0+8. 5 208. 20 208.
KEARYTFL > E|PEPG20 -
HPPE FH (AW) 1 1.0
EFY KL o715% 50 e
HPPE FH (AW) 1 1.0
EFYFI O15% @25 e
HPPE 8 (AW) 1+1+1+1+1+1+1+1 8 0
EFY KL o715% @20 e
AW 1 1.0
EFVYZY bk ¢ 50 &
AW 1 1.0
EFVYZY bk ¢ 25 &
AW T+H1+H1+1+1+1+1+1 8.0
EFVYZY bk 20 &
PE&E#F 1 1.0
E®VYT Yk $50x ¢ 30 #H
PE&E#F 1+1 2.0
E®VYT Yk $30x ¢20 #H




3l E B - | ==

£ o 2 K T & B = = ==K va =
PEZE#F 1 1. 1

EEVTvy bk ¢25%x @20 #H
PE&E#F 1 1. 1

Vv bk ¢ 20 #H
PE&E#F 1 1. 1

F—X ®30x 30 #H
PE&E#F 1 1. 1

F—X ®30x 20 #H
PE&E#F 1 1. 1

F—X ®25x% ¢ 20 #H
PE&E#F 1 1. 1

21k KieF ¢ 30 &
PE&E#F 1 1. 1

21k KieF ¢ 25 &
PEZREMF 1+H1+1+H1H1+ T+ T+ 1+ 141+ 13. 13

21k KieF ¢ 20 &
PE&E#F EIETREN 1 1. 1

*—4—H ¢ 30 &
PE&E#F EIETREN 1 1. 1

*—4—H ¢ 25 &
PEZREMF EIEINN 1+H1+1+H1H1+ T+ T+ 1+ 141+ 13. 13

*—4—H ¢ 20 &
PEZREMF 1H1+1+1H1+T+H1+H 1+ 1+ 1+ 141 12. 12

*—4—H ¢20Px ¢$13 &
1 1. 1

Bk kg ¢ 30 %
1 1. 1

Bk Ktz ¢ 25 =
T+HT+HT+H1 1+ HTH 1+ +HT 1+ 13. 13

Bk Ktz ¢ 20 H
T+HT+HTH1 1+ +HTH1+ 1+ 141+ 12. 12

Wik fFAR—)Lik kiR $13 H




# B B -] =
£ 1 2 K ~t & H g = Hil M =
EM LS

27 2+1+H1+T+H1+1+1+1+1+1+1+142 15.0 15

1E K iE R R ¢ 100 x50~70 4
1F 7K 4% 3% iR 21 +1+T+H1+H1+H1+T+1+1 414142 15.0 15

a 9 1)— RERR ER-1 &
Kim 1E30mm 1.0+61. 0+35. 9+208. 2 306. 1 306. 1

EBRRT—7 m
A IFLVINR 57N F 1.0+61. 0+35. 9+208. 2 306. 1 306. 1

HERER L — b & 75mm m
3+1+4+5 13.0 13

Al —Hh— &




# = E -} g
£ 1 2 K s+ & H g = Hil M =
(%7 # &)
1.0 1.00 1.0
fVIFLVEREAT ¢ 50 m
61.0 61. 00 61.0
D YIFLVEIRET ¢ 30 .
35.9 35. 90 35.9
D VIFLVEIRET ¢ 25 .
208. 2 208. 20 208. 2
fYIFLVEIRET ¢ 20 .
1 B EVIIS O 1.0 1
tUIFLVE LB T ¢ 50 a
2 IR EVIIS O 2.0 2
tYIFLVE LB T ¢ 30 a
1 B EVIS O 1.0 1
tUIFLVEYIEET ¢ 25 a
13 BRSBTS 13.0 13
tYIFLVE LB T ¢ 20 a
HPPEFH 1 1.0 1
DIKEEAT d75x% 50 o
HPPEFH 1 1.0 1
DIKEEAT PT5x 25 o
HPPEFH 8 8.0 8
DIKEEAT P 75% ¢20 o
3 3.0 3
D VIFLVEBRTFT ¢ 50 a
10 10.0 10
fIFLESFT 30 O
7 7.0 7
fIFLVESFT 25 O
61 61.0 61
fIFLVESFT 20 O




bl

£ o 2 K ~t & H = Hil M =
i, R\ 1 1.0 1

I KAEERET ¢ 30 i
. R\ 1 1.0 1

I KAEERET ¢ 25 i
i, R\ 13 13.0 13

I KAEERET 620 i
306. 10 306. 10 306. 1

EHRRT—JL M (KT —F) m
306. 10 306. 10 306. 1

EHR—FI m
13 13.0 13

HAT—H—RETL [E03il




# = Bt -} g
£ 1 2 Kt & H g = Hil M =
(x I
#iEAs 0.7+2. 2+2. 4+2.5+2. 2+2. 0+0. 9+1. 2 = 14.1 14.1
+ TAs 80-1 #KE H=0.8m m
#t3#ECo 29. 7+2.0+43. 4 = 75. 1 75. 1
+TCo 80-1 #KE H=0.8m m
#iEAs 221.+10.0+3.5 = 2345 234.5
+ T Ri#hAs 60-1 #KE H=0.6m m
#t3#ECo 34.2+0. 7+37.2+4.5 = 76. 6 76.6
+ T R#hiCo 60-1 #KE H=0.6m m
V¥ 10. 6+6. 8+41. 8+7. 6+1.5+12. 0+10. 1+2. 7+5. 8+2. 8+2. 0+1.0 = 104.7 104.7
+ I E#l¥ 60-1 #KE H=0.6m m
As t=15cmELF &5t 525.4 525. 4
HEMRUIETT m
14.1x (2+2) = 56. 4
+ TAs 80-1
234.5x2 = 469.0
+ T R#hAs 60-1
Co t=15cmATF &5 303.4 303.0
SHEMRUIETT m
75.1x2 = 150.2
+TCo 80-1
76.6 x 2 = 153.2
+ T RE#hCo 60-1
7AIT e R BHO. 28%&3A &5t 166.1 166. 0
EEREE - EAT t=10cmiA T m?




=
# = =
%, % S S = Bl % B
. 60x14.1+1.2x14.1 = 25.4
T+ TAs 80-1
.60x234.5 = 140. 7
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